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1. The value of3j+4/is
(i) 9/ (i) 7/ (iii) 65 (iv) 8/ (v) 4/

2. The value of(=7u) +(=5u) +(—8u) +(—6u)is
(i) (=27u) (ii) (=24u) (iii) (=26wu) (iv) (=25u) (v) (—-28uw)

3. The value of9W2 +(-5 W2) +6W2 is

(i) 10w? (i) 11w? (i) 8w? (iv) 9w? (v) 12w?

4. The value of(—2y4) +5y4 +(—6y4) +(—6y4) is

(i) (-=9y*) (i) (—12y%) (i) (=10)%) (iv) (—=8y*) (v) (=74%)

5. The value of (=92z—1) +(—-32z-7)is
(i) (=142z-8) (ii) (—=11z-8) (iii) (=132z—8) (iv) (=92z—8) (v) (—12z-8)

6. The value of(9e2+7e+3) +(—4e%—4e+6)is

(i) (6e2+3e+9) (ii) (2e2+3e+9) (i) (8e2+3e+9) (iv) (5e2+3e+9) (v) (4e?+3e+9)

7. The value of (7¢g° +8¢%+8) +(-7¢*+3¢3+2)is
() (4g°+g*+3¢3+10) (i) (6¢°+g*+3g°3+10) (iii) (10g°+g*+3¢3+10) (iv) (8¢°+qg*+3g3+10)

v) (7¢°+¢*+3g3+10)

8. The value of (6p° +2p%—5) +(3p° +4p% —8p) +(6p*—9p—6) +(—2p3—7p2+9) s
(i) (6p°+8p%—2p3-3p2—17p=2) (ii) (11p°+8p*—2p3—3p%2-17p-2)
(iii) (8p°+8p%—2p3—3p2—17p-2) (iv) (10p°+8p*—-2p3-3p2—17p-2)

(v) (9p°+8pt-2p3-3p%2-17p-2)
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9. The value ofge +§e is

(i) -7 e (ii) -3e (iii) -9 e (iv) -116' (v) -ge
10 4 10 10 8
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1, 1, 4, 4.
The value of =/ +—/+—i+—/is
2 5 5 5

W 20 Gy i 20 2w 2
| 4 1 8 11 10 v > \ 10

3 3 1

The value of~a2 +=-a2 +-a2 is
5 4 5

29

-29a2 (ii) 31a2 (i) =——a? (iv) -3a2 (v) 33a2

M 18 20 20 2 20

1 1 1 3
The value of g% +=¢% +=9¢* + = g% is
2q 2q 2q 4q

11

13 9 7 5
. 4 i 4 i 4 4 4
(i) 5 g™ (ii) 4q (iii) 4q (iv) 2q (v) 1 q
The value of (—6t) —(—61) is

(i) 2 (i) (=3) (i) 1 (iv) (=1) (v) O

The value ofe?2 —9e2 —8e? is

(i) (—=16€2%) (ii) (—=19€2) (iii) (—14€2%) (iv) (=17e€%) (v) (—15e2)

The value of (=48) —(-88) is

(i) A (i) 68 (i) 4R (iv) 3R (v) 58

The value of(—655) —255 —555 is

() (-16s2) (i) (—=12s°) (iii) (—=10s°) (iv) (—14s°) (v) (—13s°)

The value of (9x—6) —(—x+3)is

(i) (9x=9) (i) (13x-=9) (iii)) (7x=9) (iv) (11x=9) (v)

The value of (2A2 +9h—1) —(=T7h2—=7h+9)is

(i) (8h2+16h—10) (ii) (12h2+16h—10) (i) (6h%+16h—10) (iv) (9h%+16h—10)

(v) (10h2+16h-10)

The value of (3P +7R +6f) — (=9 —3F+6)is

(i) (4P +7R+9FP+9f-6) (i) (5P +7P+9R+9f—6) (i) (3P +7P+9P+97—6)

(iv) 2P +7R+9+9f—6) (v) (7R +9+9f—6)
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The value of (8m3 =3m2%+5m) —(Tm*=3m3+4m) —(=2m*+5m3-2)is

(i) (=2m*+6m3=3m%2+m+2) (i) (=8m*+6m3=3m?2+m+2) (i) (=6m*+6m3-3m2+m+2)

(iv) (—4m4+6m3—3m2+m+2) (v) (—5m4+6m3—3m2+m+2)

Ih I I - i

(i) 1 (ii) ! (iii) (—'1 ) (iv) > (v) !
i 4g ii 2g iii 4g iv 4g v 6g

1 1 1
The value of=x2 —=x2 —=x2 is
3 2 2

(i) (—§x2) (ii) (—-:xz) (iif) (—§x2) (iv) 0 (v) (—2x%)

3 3
The value of ~d3 == d3 is
4 5

1 3 3 1 1
) —d3 (i a3 (iii B3 (iv) a3 (v a3
()4 ()22 ()20 ()6 ()20

1 2 3

The value of=g° —=g° —=¢° is

27" 739 759

23

5 23 23 7
(i) (===g°) (ii) (—6q5) (iif) (—32q5) (iv) (===¢°) (V) (=——@°)

30

The sum of the terms5¢q,(-6),(—=6),qg,9 s
(i) (6g—6) (i) (6g—3) (iii) (7g=3) (iv) (59g=3) (v) (6g-1)

28 10

The sum of the terms(-9r) ,(—-6qg),q9,8q,(—=6r)is
(i) (3g—18r) (ii) (2g—15r) (iii)) (39g—13r)

(iv) (49-15r) (v) (3

The sum of the termsé6uw,(-3w),(=5uvw),(—-6V),(-3u)is

(i) (-5uvw+9uw-3u—-6v-3w) (ii) (m4duvw

+6uw—-3u—6Vv—-3w)

(iv) (=5uvw+6uw-3u—-6v-3w) (v) (-6uvw+6uw—-3u—6Vv—3W)

g—15r)

(iii) (-5uvw+4uw—-3u—-6v—-3w)

The sum of the expressions(—4x—2),(—x+8) ,(4x+2),(—2x—-10),(—14x-2)is
(i) (=17x-=2) (ii) (-18x—4) (iii) (-16x—-4)

(iv) (=17x—-4) (v)

(-=17x-6)

The sum of the expressions(8 mn—-9n) ,(-8m—n) ,(16m-9) ,(—4m+4n),(-8mn—-15m)is

(i) (=10m—-6n-9) (ii)) (=11m-9n-9) (iii)

(=11m—-4n-9) (iv)

(=11m-6n-9) (v) (-12m-6n-9)

The sum of the expressions(26+6),(4b—-2),(2b-5),(=4b+7),(9b+4)is
(i) (12b+10) (ii) (14b+10) (iii) (13b+10)

(iv) (136+13) (v) (

136+8)

The sum of the expressions(—3op—60—-4p),(3o0p+30-2p),(60p—60—-6p),(0p+9p—8),(0+4p—3)is

(i) (7op—50+p—11)

(v) (6op—8o0+p—11)

(ii) (7o0p—80+p—11)

(iii) (8op—8o0+p—11)

(iv) (7op—100+p—11)



32. The value of(—4vw) + 8vwis

(i) S5vw (ii) 4vw (iii) vw (iv) 3vw (v) 6vw
33. The value of(=7d%e?) +(—30%e?) +3d%e? +(—d?e?)is
(i) (—9d%€?) (i) (—10d2€2) (iii) (-=8d2e?) (iv) (=7d%e?) (v) (-5d%e?)

34. The value of4qgrs+2qrsis
(i) 8qgrs (ii) 6grs (iii)) 5qgrs (iv) 3qgrs (v) 7qrs

35. The value of (=363c3a3) +(=6b33d3) +3633 03 +2b33d° is
(i) (=36333%) (i) (=7633a3) Liii) (=2b3303) (iv) (=5b3303) (v) (—4b33d°3)

36. The value of (3a+b6+9) +(6ab+9a+3b)is
(i) (6ab+10a+4b+9) (ii) (6ab+1d4a+4b+9) (iii) (5ab+12a+4b+9) (iv) (6ab+12a+4b+9)

(v) (7ab+12a+4b+9)

37. The value of (=4 V2 w+4v2 —6v? +8w) + (52 w2 -7 V2 w—5viw? —6w)is

(i) (522 -13V2w+4v2-11vi?+2w) (i) (52 w2 -9V2w+4v2—11vin?+2w)
(i) (522 =112 w+4v2—11vi? +2w) (iv) (422 =112 w+4v2—11vin? +2w)

(v) (6V2W2—11V2W+4V2—11VW2+2W)

38. The value of(=2no+20p—6p)+(—n—8o0+6p)is
(i) (=2no—4n+20p—-80) (ii) (=3no—n+20p—8o0) (iii)) (—no—n+20p—80) (iv) (=2no+2n+20p—-80)

(v) (=2no—n+20p—80)

39. The value of(852u+6t2u—9tu2) +(452tu—35u+6tu) +(7stu2+7su+3t2u) is

(i) (452tu+1152u+Tstu? +4su+92u—9tu? +6tu) (i) (4s2tu+552u+T7stu +4su+92u—9tu? +6tu)
(iii) (58%tu+8s2u+7stu?+4su+9t2u—9tu?+6tu) (iv) (3s2tu+8s2u+T7stu? +4su+9t2u—9tu? +6tu)

(v) (4_<:2 tu+852u+7sz‘u2 +45u+912u—9tu2 +6tu)

1 1
40. The value of2uv+ 5uvis

(i) -7uv (i) -7uv (iii) -7 uv (iv) -1uv (v) -9 uv
i 10 i 5 iii 12 iv 3 \% 10

1 1 1 1
41. The value of-5 c2 d? +5 c2d? + 3C2d2 + 2(.‘2 a2 is

5

21 25 7 23
(i) ==c2d? (i) ==c2d? (iii) —~c2d? (iv) —=c?2d? (v) =c?d?
13 17 5 15 3
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1 2
The value ofzqrs + 5qrs is

(i) ! rs (ii) 11 rs (iii) 9 rs (iv) 9 rs (v) 3 rs
i) - ii i) - iv V) -
10q 1oq 8q 1oq 4q

3 2 2 3
The value of-5q3r3s3 + 3c73r353 +-3q3r3s3 +-4q3r3s3 is

161 163 53 157 165
i 31353 i 31353 iii 3363 3353 3353
1) - r-s 1 r-s 1l rs v r-s \ r’s
(i) 60 7 ()6067 ()2067 (iv) =g 7 (v) 62 7

The value of (=3 h/) = (=5h/) is
(i) h/ (i) 3hi (iii) 2hi (iv) 4hi (v) O

The value of (=7de) —(—9de) —6de —(—3de) is
(i) (—de) (ii) (=2de) (iii) 2de (iv) 0 (v) (—3de)

The value of 412 w2 x2 — (=22 w2 x?) is

(i) 9v2w2x% (i) 7V2w2x% (iil) 5V2w2x% (iv) 612 w2x% (v) 3v2w2x2

The value of (=512 w2 x2) — (=82 w2 x%) — (=92 w2 x?%) — (=52 w2 x?)is

(i) 15V2w2x% (i) 18V2w2x2 (i) 17vV2w2x% (iv) 16V2w2x% (v) 202 w2 x2

The value of(—4no+4n—-8) —(5n+40+7)is

(i) (=4no—n—-40-15) (ii) (-5no—n—-40-15) (iii) (-4no—3n—40-15) (iv) (-3no—n—-40-15)
(v) (=4no+2n-40-15)

The value of (122 =2jj—i+4j) —(=10/2/2 +2/%j+7i+1)is

(i) (117272+/2j=2ij—8i+4j—1) (ii) (11/22=2/2j—2ij—-8i+4j—1) (iii) (11/22—5/2j—2/j—8i+4j—1)

(iv) (102/2=2/2j=2jj-8i+4j—1) (v) (12/2/2=2/%j—2ij—-8i+4/—1)

The value of (=7/k+3k+1) —(=3ij—4/+9)is

(i) (4ij—Tik+4j+3k=8) (ii) (3ij=5ik+4j+3k—8) (iil) (3ij—Tik+4j+3k—8) (iv) (2ij—Tik+4j+3k—8)
(v) (3/j—9/ik+4j+3k—8)

The value of (=5d2e?f—2d%e+4def) —(9d? e +Tef-1) —(2de? -9~ —2)is

(i) (—4d%e?F-9d%eR —2d%e—2de? P +4def-7ef+9F +3)

(i) (=50d%e?Ff—7d%er—2d%e-2de? P +4def-Tef+9~ +3)

(i) (=50d2e2f—12d2er-2d%e—2de? R +4def-Tef+9 +3)

(iv) (—6d2e?2f-9d%eP-2d%e—2de? P +4def-T7ef+9F +3)

(v) (=50d2e2f—9d2er—2d?e—2de? P +4def-Tef+9F +3)
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4 2
The value of5xy— 5xyis

(i) -2X (i) -2X (iii) 0 (iv) -2X (v) -4X
3 Y 7 4 5 4 5 Y

1 3 1 3
The value of—~gh ——gh ——-gh ——ghis
49 59 29 59

29 27 29 31 29
i) (==——gh) (ii) (=—gh) (iii) (=—gh) (i —=Zgh —-=Zgh
(i) ( 209 ) (i) ( 209 ) (i) ( 229 ) (iv) ( 209 ) (v) | 189 )

3 1
The value of-4/2m2 n? — 3/2m2n2 is

7 5 1 1 5
(i) —Pm?2n2 (i) —Pm?n? (i) =Pm?n? (iv) =Pm?n? (v) —FPm?n?
12 14 4 2 12

1 1 1 3
The value of-2f292h2 —-3f2g2/72 - .2f292/72 _.4f2g2/72 is

13 13 5 11 13
; _ f2 2 /72 . _ f2 2 /72 _ f2 2 /72 ; _ f2 2 /72 _ f2 2 /72
(i ( 14 gch%) (ii) ( 12 gchs) (iii) ( 4 gch<) (iv) ( 12 gchs) (v) ( 10 gchs)



Assignment Key

1) (i) 2) (iii) 3) (i) 4) (i) 5) (v) 6) (iv)

7) (v) 8) (v) 9) (iii) 10) (iii) 11) (ii) 12) (ii)
13) (v) 14) (i) 15) (iii) 16) (v) 17) (v) 18) (iv)
19) (iii) 20) (v) 21) (i) 22) (iii) 23) (iii) 24) (i)

25) (ii) 26) (v) 27) (iv) 28) (iv) 29) (iv) 30) (iii)
31) (ii) 32) (i) 33) (iii) 34) (ii) 35) (v) 36) (iv)
37) (iii) 38) (v) 39) (v) 40) (i) 41) (iv) 42) (iv)
43) (i) 44) (iii) 45) (i) 46) (iv) 47) (iii) 48) (i)

49) (ii) 50) (iii) 51) (v) 52) (iv) 53) (i) 54) (v)
55) (ii)
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